
ping is gestart…

PING 192.168.2.1 (192.168.2.1): 56 data bytes
64 bytes from 192.168.2.1: icmp_seq=0 ttl=128 time=1.098 ms
64 bytes from 192.168.2.1: icmp_seq=1 ttl=128 time=1.468 ms
64 bytes from 192.168.2.1: icmp_seq=2 ttl=128 time=7.662 ms
64 bytes from 192.168.2.1: icmp_seq=3 ttl=128 time=3.683 ms
64 bytes from 192.168.2.1: icmp_seq=4 ttl=128 time=3.794 ms
64 bytes from 192.168.2.1: icmp_seq=5 ttl=128 time=3.759 ms
64 bytes from 192.168.2.1: icmp_seq=6 ttl=128 time=1.007 ms
64 bytes from 192.168.2.1: icmp_seq=7 ttl=128 time=0.809 ms
64 bytes from 192.168.2.1: icmp_seq=8 ttl=128 time=3.800 ms
64 bytes from 192.168.2.1: icmp_seq=9 ttl=128 time=1.353 ms
64 bytes from 192.168.2.1: icmp_seq=10 ttl=128 time=0.956 ms
64 bytes from 192.168.2.1: icmp_seq=11 ttl=128 time=3.396 ms
64 bytes from 192.168.2.1: icmp_seq=12 ttl=128 time=0.822 ms
64 bytes from 192.168.2.1: icmp_seq=13 ttl=128 time=0.745 ms
64 bytes from 192.168.2.1: icmp_seq=14 ttl=128 time=0.983 ms
64 bytes from 192.168.2.1: icmp_seq=15 ttl=128 time=0.855 ms
64 bytes from 192.168.2.1: icmp_seq=16 ttl=128 time=0.830 ms
64 bytes from 192.168.2.1: icmp_seq=17 ttl=128 time=0.866 ms
64 bytes from 192.168.2.1: icmp_seq=18 ttl=128 time=3.552 ms
64 bytes from 192.168.2.1: icmp_seq=19 ttl=128 time=4.368 ms
64 bytes from 192.168.2.1: icmp_seq=20 ttl=128 time=0.921 ms
64 bytes from 192.168.2.1: icmp_seq=21 ttl=128 time=0.902 ms
64 bytes from 192.168.2.1: icmp_seq=22 ttl=128 time=2.410 ms
64 bytes from 192.168.2.1: icmp_seq=23 ttl=128 time=0.920 ms
64 bytes from 192.168.2.1: icmp_seq=24 ttl=128 time=3.641 ms
64 bytes from 192.168.2.1: icmp_seq=25 ttl=128 time=4.205 ms
64 bytes from 192.168.2.1: icmp_seq=26 ttl=128 time=3.515 ms
64 bytes from 192.168.2.1: icmp_seq=27 ttl=128 time=1.084 ms
64 bytes from 192.168.2.1: icmp_seq=28 ttl=128 time=1.804 ms
64 bytes from 192.168.2.1: icmp_seq=29 ttl=128 time=3.743 ms
64 bytes from 192.168.2.1: icmp_seq=30 ttl=128 time=5.856 ms
64 bytes from 192.168.2.1: icmp_seq=31 ttl=128 time=5.238 ms
64 bytes from 192.168.2.1: icmp_seq=32 ttl=128 time=5.810 ms
64 bytes from 192.168.2.1: icmp_seq=33 ttl=128 time=8.479 ms
64 bytes from 192.168.2.1: icmp_seq=34 ttl=128 time=3.738 ms
64 bytes from 192.168.2.1: icmp_seq=35 ttl=128 time=0.923 ms
64 bytes from 192.168.2.1: icmp_seq=36 ttl=128 time=4.692 ms


